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BACHELOR’S DEGREE PROGRAMME
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December, 2020
(ELECTIVE COURSE : COMMERCE)
ECO-03 : MANAGEMENT THEORY

Time : 2 Hours Maximum Marks : 50

Note : Attempt both the Sections A and B.

Section—A

Note : Attempt any three of the following questions.

1.

Explain the terms ‘Centralisation’ and
‘Decentralisation’. State the merits and

limitations of ‘decentralisation’. 448

Describe modern (systems) approach of

management with suitable examples. 12

Explain Herzberg’s two-factor theory and
differentiate it from Maslow’s theory of need

hierarchy. 6+6
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Explain Break-Even Analysis as a technique of
control. Also state its advantages and

limitations briefly. 4+4+4

Differentiate between formal and informal
organisations. Also describe the problems of

informal organisation. 8+4

“The process of communication implies the

existence of a sender, a receiver, a message and

a motivating climate for it.” Elaborate the

statement with suitable examples. 12
Section—B

Write explanatory notes on any two of the

following : 7T+7

(a) Human Resource Planning

(b) Financial and Non-financial Incentives

(¢) Types of Planning

(d) Stages in the Control Process
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